

Laboratory Corporation of America Holdings, 69 First Ave., Raritan, NJ 08869, 908-526-2400/800-437-4986, (Formerly: Roche Biomedical Laboratories, Inc.)

Laboratory Corporation of America Holdings, 1904 TW Alexander Drive, Research Triangle Park, NC 27709, 919-572-6900/800-833-3984, (Formerly: LabCorp Occupational Testing Services, Inc., CompuChem Laboratories, Inc.; CompuChem Laboratories, Inc., A Subsidiary of Roche Biomedical Laboratory; Roche CompuChem Laboratories, Inc., A Member of the Roche Group)

Laboratory Corporation of America Holdings, 1120 Main Street, Southaven, MS 38671, 866-827-8042/800-233-6339, (Formerly: LabCorp Occupational Testing Services, Inc.; MedExpress/National Laboratory Center)

MedTox Laboratories, Inc., 402 W County Road D, St. Paul, MN 55112, 651-636-7466/800-832-3244

Minneapolis Veterans Affairs Medical Center, Forensic Toxicology Laboratory, 1 Veterans Drive, Minneapolis, MN 55417, 612-725-2088, Testing for Veterans Affairs (VA) Employees Only

Omega Laboratories, Inc., 2150 Dunwin Drive, Unit 1 & 2, Mississauga, ON, Canada L5L 5M8, 289-919-3188

Pacific Toxicology Laboratories, 9348 DeSoto Ave., Chatsworth, CA 91311, 800-328-6942, (Formerly: Centinela Hospital Airport Toxicology Laboratory)

Phamatech, Inc., 15175 Innovation Drive, San Diego, CA 92128, 888-635-5840

US Army Forensic Toxicology Drug Testing Laboratory, 2490 Wilson St., Fort George G. Meade, MD 20755-5235, 301-677-7085, Testing for Department of Defense (DoD) Employees Only

Anastasia D. Flanagan,

Public Health Advisor, Division of Workplace Programs.

[FR Doc. 2026-04030 Filed 2-27-26; 8:45 am]

BILLING CODE 4162-20-P

DEPARTMENT OF HEALTH AND HUMAN SERVICES

Substance Abuse and Mental Health Services Administration

Agency Information Collection Activities: Proposed Collection; Comment Request

In compliance with Section 3506(c)(2)(A) of the Paperwork Reduction Act of 1995 concerning

opportunity for public comment on proposed collections of information, the Substance Abuse and Mental Health Services Administration (SAMHSA) will publish periodic summaries of proposed projects. To request more information on the proposed projects or to obtain a copy of the information collection plans, email the SAMHSA Reports Clearance Officer at alicia.broadus@samhsa.hhs.gov.

Comments are invited on: (a) whether the proposed collections of information are necessary for the proper performance of the functions of the agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden of the proposed collection of information; (c) ways to enhance the quality, utility, and clarity of the information to be collected; and (d) ways to minimize the burden of the collection of information on respondents, including the use of automated collection techniques or other forms of information technology.

Proposed Project: Programs To Reduce Underage Drinking—(OMB No. 0930-0316)—Revision

The Sober Truth on Preventing Underage Drinking Act (STOP Act) was passed by Congress in 2006, reauthorized in December 2016 as part of the 21st Century Cures Act (Pub. L. 114-255) and the Consolidated Appropriations Act, 2023 (Pub. L. 117-328), and codified into law in 42 U.S.C. 290bb-25b: Programs to reduce underage drinking. The STOP Act contains four primary elements:

1. The award of community-based coalition enhancement grants for underage drinking prevention activities to eligible entities currently receiving funds under the Drug-Free Communities Act of 1997.

2. A national adult-oriented media public service campaign to prevent underage drinking, "Talk. They Hear You.", and an annual report to Congress evaluating the campaign.

3. An annual report to Congress summarizing federal prevention activities and the extent of progress in reducing underage drinking nationally, including data from national surveys conducted by federal agencies.

4. An annual report to Congress "on each State's performance in enacting, enforcing, and creating laws, regulations, and programs to prevent or reduce underage drinking." The survey that is the subject of this request gathers data used to develop the state-by-state report on prevention and enforcement activities related to underage drinking.

Driven by the legislation and coordinated by the Interagency Coordinating Committee on the Prevention of Underage Drinking (ICCPUD), each of these activities work together to prevent and reduce underage drinking. ICCPUD provides national leadership in federal policy and programming to support state and community activities that prevent and reduce underage drinking. The data collection activities described in this package serve to assess the outputs and outcomes of public health messaging and interventions. The data collection activities outlined in this package are:

1. *Survey of State Underage Drinking Prevention Policies, Programs, and Practices:* An annual survey mandated by the STOP Act legislation sent to an individual designated by the governor of all 50 states and the mayor of the District of Columbia;

2. *Policy Academy Evaluations:* An assessment of participant capacity and workforce development through ICCPUD's Alcohol Policy Academy and SAMHSA's State and Community Policy Academy;

3. *"Parents' Night Out" Evaluation:* Tools for distribution of materials and evaluation of presenters and participants, including a solicitation of feedback from presenters, an assessment of changes in knowledge, skills, and confidence of parents and caregivers after receiving the training and materials for "Parents' Night Out" and "Talk. They Hear You." products, as well as Focus Groups with Parents and Campaign Partners;

4. *"Talk. They Hear You." Mobile App Surveys:* A parent and caregiver survey and an app satisfaction survey. The parent survey will allow parents to provide their insight on campaign materials, general demographic information, and details on their conversations with youth regarding underage drinking and substance use. The satisfaction survey will assess perceptions of the app function and content to inform future "Talk. They Hear You." campaign refinement.

5. *"Talk. They Hear You." Community Partner Surveys:* A newsletter survey, a license survey, a feedback survey, and a product design request survey. Each tool will be used to engage partners, disseminate materials, provide technical assistance, and receive feedback.

6. *Screen4Success:* A pre-screener, screener, and consent/assent survey on the Screen4Success website. The tool is designed to screen for health, wellness, and well-being concerns and connect participants to resources in their area.

Survey of State Underage Drinking Prevention Policies, Programs, and Practices

The STOP Act states that the “Secretary [of Health and Human Services] shall . . . annually issue a report on each state’s performance in enacting, enforcing, and creating laws, regulations, and programs to prevent or reduce underage drinking.” The Secretary has delegated responsibility for this report to SAMHSA. Therefore, SAMHSA has developed a Survey of State Underage Drinking Prevention Policies, Programs, and Practices (the State Survey) to provide input for the state-by-state report on prevention and enforcement activities related to the underage drinking component of the annual *Report to Congress on the Prevention and Reduction of Underage Drinking*.

Congress’ purpose in mandating the collection of data on state policies, programs, and practices through the State Survey is to provide policymakers and the public with otherwise unavailable but much needed information regarding state underage drinking prevention policies and programs. SAMHSA and other federal agencies that have underage drinking prevention as part of their mandate use the results of the State Survey to inform

federal programmatic priorities, as do other stakeholders, including community organizations. The information gathered by the State Survey has established a resource for state agencies and the public for assessing policies and programs in their own state and for becoming familiar with the policies, programs, practices, and funding priorities of other states.

SAMHSA has determined that data on Categories #2 and #3 mandated in the STOP Act (as listed on page 2; enforcement and educational programs and programs targeting youth, parents, and caregivers) as well as states’ collaborations with tribal governments, use of social marketing or counter-advertising campaigns, state-level interagency collaborations, and prevention workforce development activities are not available from secondary sources and therefore must be collected from the states themselves. The State Survey is therefore necessary to fulfill the Congressional mandate found in the STOP Act. Furthermore, the uniform collection of these data from the states over the last 15 years has created a valuable longitudinal dataset, and the State Survey’s renewal is vital to maintaining this resource.

The State Survey is a single document that is divided into three sections: (1)

enforcement of underage drinking laws; (2A) underage drinking prevention programs targeted to youth, families, parents, and caregivers, including data on the approximate number of persons served by these programs; (2B) state collaborations and best practices; (2C) interagency collaborations and state participation in social marketing media campaigns intended to reduce underage drinking; and (3) workforce development activities, including strategies and funds expended on recruiting and retaining a behavioral health workforce.

SAMHSA collects the required data using an online survey data collection platform. Links to the survey are distributed to states via email. The State Survey is sent to each state governor’s office and the Office of the Mayor of the District of Columbia. SAMHSA provides both telephone and electronic technical support to state agency staff and emphasizes that the states are expected to provide data from existing state databases and other data sources available to them. The burden estimate below considers these assumptions.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
State survey	51	1	51	18.5	943.50	\$28.07	\$26,484.05

Alcohol Policy Academy Evaluation

ICCPUD’s Alcohol Policy Academy strives to reduce and prevent underage and excessive drinking by increasing the capacity of community coalitions to modify the community context through the policy process. The Alcohol Policy Academy includes 14 coalitions from across the U.S., with two individuals from each coalition serving as Academy participants. The Alcohol Policy Academy evaluation is designed to measure the effectiveness of increasing coalition capacity through the training and coaching of the policy process. Additionally, the evaluation will measure the increase in the policy training workforce through a mentee-to-coach development pipeline. The scope of the evaluation is limited to measuring the impact of the Alcohol Policy

Academy curriculum on participants and coaches.

The evaluation comprises seven surveys and one focus group. Surveys are conducted after each monthly training and coaching call. The participant surveys seek feedback on changes in knowledge, skills, and confidence after each training and coaching call as well as feedback on the training content and training/coaching provider. The coach surveys track the progress of the coalitions. These surveys take the participants and coaches approximately 5–10 minutes each to complete. The participants also complete a baseline survey, a 12-month follow-up survey, and an 18-month follow-up survey. These surveys assess whether participants reach their own goals during the Alcohol Policy

Academy, how they share their knowledge and skills gained, and how they continue to progress in the policy process. All surveys will be fielded using a web-based survey tool. The focus group within the cohort will collect qualitative data from the participants on their experience.

The table below indicates the estimated total annual burden on the participants and coaches of the Alcohol Policy Academy. The survey estimates include reading the instructions and questions and responding to each question. The focus group is scheduled for one hour and includes introductions, instructions, posing of questions, and open discussion.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Focus Group	28	1	28	1	28	\$27.10	\$758.80
Participant Post-Coaching Call Survey	28	10	280	0.125	35	27.10	948.50
Participant Post-Training Call Survey ..	28	10	280	0.125	35	27.10	948.50

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Coach Post-Coaching Call Survey	3	70	210	0.17	35.7	50	1,785.00
Baseline	28	1	28	0.67	18.76	27.10	508.40
Follow-Up	28	1	28	1	28	27.10	758.80
Six-Month Follow-Up	28	1	28	0.67	18.76	27.10	508.40

“Talk. They Hear You.”

The “Talk They Hear You” campaign comprises a variety of tools and resources designed to decrease underage drinking by encouraging families, parents and caregivers, educators, and community members/organizations to proactively engage youth in conversations about alcohol and other

substances. Research has demonstrated that active and engaged adults can reduce underage drinking.¹

“Parents’ Night Out” Materials Download Survey

The “Parents’ Night Out” Materials Download Survey will facilitate the download of materials by interested organizations, including local

coalitions, health departments, schools, and other community groups. The survey will ask questions relevant to providing training and technical assistance for implementation and contact information for automated delivery of the materials.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
“Parents’ Night Out” Materials Download Survey	500	1	500	0.05	25	\$27.10	\$677.50

“Parents’ Night Out” Evaluation

The “Parents’ Night Out” Evaluation will assess changes in knowledge, skills, and confidence of parents and caregivers after receiving the training and materials from “Parents’ Night Out” and “Talk. They Hear You.” products. This evaluation will be delivered in collaboration with community partners, who will be exposed to varying combinations of “Parents’ Night Out” and materials to determine change before and after exposure. The information gleaned in surveys of participants and presenters of the sessions will allow the evaluation team to assess whether “Parents’ Night Out” is being implemented as intended and which products are most useful in

increasing parents’ and caregivers’ capacity and intentions. The results will be shared with the implementation team for “Parents’ Night Out” curriculum modifications and for updating “Talk. They Hear You.” materials. Similarly, information collected regarding technical assistance from the Presenter Survey will be used to continuously improve the materials to best serve the needs of the users.

In addition to the ongoing *Parents’ Night Out* evaluation, the *Talk. They Hear You.* team will conduct a series of four focus groups—two with parents and two with campaign partners—to gather feedback on campaign materials, messaging, and needs. Each group will include eight participants and be facilitated by two campaign evaluators.

Parent groups will explore effective messaging strategies, preferred media channels, and desired resources. Partner groups will provide input on the usefulness of campaign materials and offer recommendations for training and technical assistance. Evaluators will analyze the discussions for key themes to inform ongoing campaign improvements. The table below indicates the estimated total annual burden on the participants and presenters of “Parents’ Night Out,” and the focus group participants. The survey estimates include reading the instructions and questions and responding to each question.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
“Parents’ Night Out” Participant Survey	1,000	1	1,000	0.12	120	* \$17.50	\$2,100.00
“Parents’ Night Out” Presenter Survey	200	1	200	0.08	16	27.10	433.60
Campaign Partner Evaluation Focus Groups	16	1	16	1	16	27.10	433.60
Parent Evaluation Focus Group	16	1	16	1	16	* 17.50	280.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

Mobile App Parent Survey

The “Talk. They Hear You.” mobile app provides families, parents, and caregivers access to resources, conversation practice sessions, and

Screen4Success. The mobile app’s Parent Survey will be linked within the “Talk. They Hear You.” mobile app for parents and caregivers of youth ages 12–20 to complete. Parents and caregivers will be able to provide their insight on

campaign materials, general demographic information, and details on their conversations with youth regarding underage drinking and substance use. This feedback will help the campaign team better serve parents

¹ Glenn, S.D., Turrisi, R., Mallett, K.A., Waldron, M.S., Lenker, L.K. (2024). Examination of brief parent-based interventions to reduce drinking

outcomes on a nationally representative sample of teenagers. *Journal of Adolescent Health, 74*(3) 449–

457. <https://doi.org/10.1016/j.jadohealth.2023.09.010>.

and caregivers by tailoring resources to meet the age range of youth and parental areas of interest.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Mobile App Parent Survey	200	1	200	0.12	24	*\$17.50	\$420.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

Mobile App Satisfaction Survey

The campaign team is interested in continuing deployment of the User Satisfaction Survey. The overall objective of the survey is to determine users' satisfaction with the app and if the user would like to see any changes made to the app. The survey will inform SAMHSA on how the mobile app

resonates with the intended users and determine whether the mobile app is effective at conveying the importance of talking with kids early and often about underage drinking and other substances use through guided conversations. This survey will be available at the bottom of each page of the mobile app and promoted through in-app pop-up notifications.

The table below indicates the estimated total annual burden on the respondents of the survey. The survey estimates include reading and responding to each question, and totals 3 minutes. The wage rate was determined based on the highest state minimum wage, as respondent locations are not collected.

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Mobile App Satisfaction Survey	200	1	200	0.05	10	*\$17.50	\$175.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

Community Partner Newsletter Survey

The Newsletter Survey will be a brief survey designed for interested individuals to sign up to receive regular campaign communications via email.

The newsletter is developed for organization members to engage with campaign materials, receive updates when new products are released, and participate in "Talk. They Hear You." events. The newsletter also provides

free pre-made social media content related to underage drinking prevention for organizations to share or customize.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per	Total hour burden	Wage rate	Total hour cost
Newsletter Survey	240	1	240	0.05	12	*\$17.50	\$210.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

Community Partner License Survey

The License Survey is designed for organizations to register and partner with the "Talk. They Hear You." campaign. In contrast to the Newsletter Survey, the License Survey is designed to be filled out once per organization.

Partners will receive regular communication from the campaign outreach team and can access technical assistance as needed. Partners help facilitate the campaign at the local level by engaging their community, parents and caregivers, families, and educators. The campaign will highlight the work of

partners periodically in the newsletters to share their successes and valuable efforts to disseminate "Talk. They Hear You." products.

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
License Survey	260	1	260	0.08	20.8	\$27.10	\$563.68

Community Partner Feedback Survey

The Partner Feedback Survey will provide an opportunity for partners to share feedback on community engagement meetings and evaluate how current community partners are engaging with "Talk. They Hear You." Partners who attend the community

engagement meetings will be asked to complete the survey after each quarterly meeting. The survey will gather both qualitative and quantitative evaluation data to be used for campaign refinement and to improve technical assistance to licensed partners. The data gathered through the Partner Feedback Survey

will be used to continuously enhance the materials and community engagement provided by "Talk. They Hear You."

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Partner Feedback Survey	86	1	86	0.17	14.62	\$27.10	\$396.20

Product Design Request Survey social media graphic development of website, through email newsletters, and during virtual campaign events.

The Product Design Request Survey will allow partners to submit technical assistance requests for product customization, co-branding, resizing, or materials. The survey is exclusively designed for licensed partners of the “Talk. They Hear You.” campaign, and will be distributed on the campaign

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Product Design Request Survey	100	1	100	0.17	17	\$27.10	\$460.70

Screen4Success track referrals to services. Information collected at the consent of the participant will be shared with researchers to better inform prevention efforts and support services of the “Talk. They Hear You.” campaign. Additionally, organizations who use Screen4Success can utilize their aggregated, de-identified participant result data to inform local interventions, shape policy, and supplement applications to secure funding.

Screen4Success is designed for individuals and organizations to access free health, wellness, and well-being screening tools; collect consent/assent from parents and participants; navigate to local and national resources; and

The estimated annual response burden to collect this information is as follows:

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Pre-Screener	1,000	1	1,000	0.08	80	* \$17.50	\$1,400.00
Screener	1,000	1	1,000	0.3	300	* 17.50	5,250.00
Parental Consent/Assent	1,000	1	1,000	0.04	40	* 17.50	700.00
Participant Consent/Assent	1,000	1	1,000	0.04	40	* 17.50	700.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

The two tables shown below detail of the data collection activities listed the aggregate and combined total burden above.

COMBINED ESTIMATED BURDEN FOR RESPONDENTS

Instrument	Number of respondents	Responses/respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
State Survey	51	1	51	18.5	943.50	\$28.07	\$26,484.05
Focus Group	28	1	28	1	28	27.10	758.80
Participant Post-Coaching Call Survey	28	10	280	0.125	35	27.10	948.50
Participant Post-Training Call Survey ..	28	10	280	0.125	35	27.10	948.50
Coach Post-Coaching Call Survey	3	70	210	0.17	35.7	50	1,785.00
Baseline	28	1	28	0.67	18.76	27.10	508.40
Follow-Up	28	1	28	1	28	27.10	758.80
Six-Month Follow-Up	28	1	28	0.67	18.76	27.10	508.40
“Parents’ Night Out” Materials Download Survey	500	1	500	0.05	25	27.10	677.50
“Parents’ Night Out” Participant Survey	1000	1	1000	0.12	120	* 17.50	2,100.00
“Parents’ Night Out” Presenter Survey	200	1	200	0.08	16	27.10	433.60
Campaign Partner Evaluation Focus Groups	16	1	16	1	16	27.10	433.60
Parent Evaluation Focus Group	16	1	16	1	16	* 17.50	280.00
Mobile App Parent Survey	200	1	200	0.12	24	* 17.50	420.00
Mobile App Satisfaction Survey	200	1	200	0.05	10	* 17.50	175.00
Newsletter Survey	240	1	240	0.05	12	* 17.50	210.00
License Survey	260	1	260	0.08	20.8	27.10	563.68
Partner Feedback Survey	86	1	86	0.17	14.62	27.10	396.20
Product Design Request Survey	100	1	100	0.17	17	27.10	460.70
Pre-Screener	1,000	1	1,000	0.08	80	* 17.50	1,400.00
Screener	1,000	1	1,000	0.3	300	* 17.50	5,250.00
Parental Consent/Assent	1,000	1	1,000	0.04	40	* 17.50	700.00

COMBINED ESTIMATED BURDEN FOR RESPONDENTS—Continued

Instrument	Number of respondents	Responses/ respondent	Total responses	Hours per response	Total hour burden	Wage rate	Total hour cost
Participant Consent/Assent	1,000	1	1,000	0.04	40	* 17.50	700.00

* <https://www.dol.gov/agencies/whd/minimum-wage/state>.

TOTAL BURDEN ON RESPONDENTS FOR ALL DATA COLLECTION TOOLS

Instrument	Number of respondents	Responses/ respondent (average)	Total responses	Hours per response (average)	Total hour burden	Wage rate (average)	Total hour cost
Total	7,040	5	7,751	1.11	1,894.14	\$24.38	\$46,900.73

Written comments and recommendations for the proposed information collection should be sent within 30 days of publication of this notice to www.reginfo.gov/public/do/PRAMain. Find this particular information collection by selecting “Currently under 30-day Review—Open for Public Comments” or by using the search function.

Carlos Graham,

Social Science Analyst.

[FR Doc. 2026-04128 Filed 2-27-26; 8:45 am]

BILLING CODE 4162-20-P

DEPARTMENT OF HOUSING AND URBAN DEVELOPMENT

[Docket No. FR-7103-N-04; OMB Control No.: 2528-0013]

60-Day Notice of Proposed Information Collection: Survey of Market Absorption of New Multifamily Units

AGENCY: Office of Policy Development and Research, HUD.

ACTION: Notice.

SUMMARY: HUD is seeking approval from the Office of Management and Budget (OMB) for the information collection described below. In accordance with the Paperwork Reduction Act, HUD is requesting comment from all interested parties on the proposed collection of information. The purpose of this notice is to allow for 60 days of public comment.

DATES: *Comments Due Date:* May 1, 2026.

ADDRESSES: Interested persons are invited to submit comments regarding this proposal. Written comments and recommendations for the proposed information collection can be sent within 60 days of publication of this notice to www.regulations.gov. Interested persons are also invited to submit comments regarding this proposal. Comments should refer to the proposal by name and/or OMB Control Number and should be sent to: Jason Bladen, Department of Housing and Urban Development, 451 7th Street SW, Room 8222, Washington, DC 20410. Comments may also be submitted via email to PDRPublicComments@hud.gov.

FOR FURTHER INFORMATION CONTACT: Jason Bladen, Department of Housing and Urban Development, 451 7th Street SW, Washington, DC 20410; email PDRPublicComments@hud.gov, telephone (202) 402-7054. This is not a toll-free number. HUD welcomes and is prepared to receive calls from individuals who are deaf or hard of hearing, as well as individuals with speech or communication disabilities. To learn more about how to make an accessible telephone call, please visit <https://www.fcc.gov/consumers/guides/telecommunications-relay-service-trs>.

Copies of available documents submitted to OMB may be obtained from Mr. Bladen.

SUPPLEMENTARY INFORMATION: This notice informs the public that HUD is seeking approval from OMB for the information collection described in Section A.

A. Overview of Information Collection

Title of Information Collection: Survey of Market Absorption of New Multifamily Units.

OMB Approval Number: 2528-0013.

Type of Request: Extension without change to a currently approved collection.

Form Number: N/A.

Description of the need for the information and proposed use: The Survey of Market Absorption (SOMA) provides the data necessary to measure the rate at which new rental apartments and new condominium apartments are absorbed; that is, taken off the market, usually by being rented or sold, over the course of the first 12 months following completion of a building. The data are collected at quarterly intervals until the 12 months conclude, or until the units in a building are completely absorbed. The survey also provides estimates of certain characteristics, including asking rent/price, number of units, and number of bedrooms. The survey provides a basis for analyzing the degree to which new apartment construction is meeting the present and future needs of the public.

Respondents: Rental Agents/Builders.

Estimated Number of Respondents: 12,000 yearly (maximum).

Estimated Number of Responses: 48,000 yearly (maximum).

Frequency of Response: Four times (maximum).

Average Hours per Response: 15 minutes/initial interview and 5 minutes for any subsequent interviews (up to three additional, if necessary).

Total Estimated Burdens: 6,000 (12,000 buildings × 30 minutes).

Information collection	Number of respondents	Frequency of response	Responses per annum	Burden hour per response	Annual burden hours	Hourly cost per response	Annual cost
SOMA	12,000	4	48,000	0.125 (30 minutes total divided by 4 interviews).	6,000	\$43.57	\$261,420